Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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/iv).The reciprocal of reactance is ,

PART — A )
Choose the CO rect answers for the following : AU (04 Marks)
i) In DC \scmes circit, the supply voltage is sum ‘of Voltage drop across each

ii)
A) More than largeSt resistance
C) Equal to largest {g@istance
iii) According to N law,\the induced EMF opposes the cause producing it.
A) Ohm’s B)é, D) Kirchhoff’s
iv)  Stationary induced EMF can be found in
A) Generator (L {
(06 Marks)

(05 Marks)

Choose the c;oruct/answers for the following : e . (04 Marks)
i) The power consumed by pure inductive circuit is, N
A) Unity~ B) Zero C) Infinity MNone of these
ii)  The, p@ak value of a sine wave is 400VOH , its average value is Z O
A) 2546V B) 282.6 V C) 400V D)'5‘65 \Y
iif) < As the power factor increases, phase angle ,
~_A) Increases B) Decreases C) Remain’s some D) None of these

" A) Admittance B) Conductance C) Impedance D) Suceptauce

”\how that power consumed in pure capacitive circuit is zero. (06 Marks)

A coil of power factor 0.6 is in series with a 100 uF capacitance when connected to a 50 Hz
supply, the potential difference across the coil is equal to the potential difference across the

capacitor. Find resistance inductance of the coil. (06 Marks)
Two impedances (20+115) and (30 JZO) Q are connected in parallel. Find the branch
currents if the total supply current is 10£-30"A.. (04 Marks)
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. (04 Marks)

D) \/j\
eted in Delt a, as

C) infinity
times as much power when con

A B) two C) three D) four
!:ar connected load of (8+j6) Q per phase is. connected toa3¢, 230V

D) 23 A

reads zero, theh
A) Zero h

\\ Y " (05 Marks)
A 3-¢ star connected with a ph@se voltage of 230-V.is’supplying a balanced Delta connected
load. The load draws 15 kW aﬁ@“&pf laggmg Determme circuit constants. (06 Marks)
During the measurement of powe y two wattmeter mthod, the total input power at a 3¢,
440V, motor running at a p.f of 0.8
wattmeters. "

(05 Marks)

Choose the correct answers for the foilowm Oy (04 Marks)

i) Afuseisa \
A) Power limiting device 77~ B) Voltage limiting device
C) Current limiting device . »{ __DB)\Protective device.
ii)  One unit of electrical energy; is equlvalent tb
A) 100 wh B) 10 kwh
Ina dynameter wattmeter 1he ﬁxed coil is

D) 3600 w-sec

p ‘,,hded by
A) Shunt magnet \ B) Series magnet ©) Brakmg agnet D) None of these
Explam the constructlon&workmg of single phase induction t\ype energy meter. (08 Marks)

(04 Marks)
(04 Marks)
% PART - B )
Choose the, correct answers for the following : WL (04 Marks)

i) the geqerator works on the principle of
A}) Statlcally induced EMF B) Mutual induced EMFE> -
C) Dynamlcally induced EMF D) Kirchhoff’s law

ii)&«\ “~The brushes in DC generator are made up of , &)y
/7K) Copper B) Carbon C) Iron D) Steel :
11};\( DC series motor should always be started with load because

A) At no load, speed is very high B) It cannot start without 1oad L

C) At no load, it draws a very small current “

D) Atnoload, itdevelop high starting torque

iv) Ina 240V, DC motor, the back EMF is 220V & R,=0.5Q then its armature current is

A) 10A B) 20 A C)30 A D) 40 A
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» Derive an expression for armature and shaft torque. (@6 Marks)

DC shunt generator supplying a load of 5 kW at a voltage of 250 V. If it has armature

/ p ;resrstance of 0.22 Q and shunt field resistance of 100 Q. Calculate generated EMP
e (04 Marks)

A 2"40 V, DC shunt motor takes a no load current of 3 A and runs at 1100 ym! If the full
load current is 41 A, find the speed on full load. Take R, = 0.25 Q and Rsh/\— 230 Q.

AN N A (06 Marks)
Choose: the correct answers for the following : (04 Marks)
i) An ldeal transformer does not change )

A) Voliage-. B) Power C) Current /\\\ D) None of these

ii)  The avera _EMF/turn in a single phase transformer is

B) 4.44 f¢m C) 2fm,

A) Iron losses
iv) For a 250/ 25
is
A) 0.4 A
Derive an expression for mduced EMF in 1-¢ transf

B) Copper losses tersis
ransformer having 10 KVA rating ‘the full load primary current

VBN A C). 4047 D) 400 A
r. (06 Marks)
th

A 1-¢ transformer working at 0 8 pf has a efﬁelencybof 94% at both full load and —3— full

Y

load. Determine the efficiency at Ha ffull load{ar*d unity power factor. (06 Marks)
A 50 KVA, 1-¢ transformer has 600' urr;s Qn/prrmary and 40 turns on secondary. The
primary winding is connected to the 2200 kY, 50 Hz supply. Calculate

(1) Secondary voltage onno load, <

(ii) Full load primary and secondary current . (04 Marks)

Choose the correct answers for the\"o«lowmg : (04 Marks)

i)  Inan alternator isa rotatrng part. <& 2]

A) Armature B) F 1eld ~#-C) Both armature and field D) None of these
ii)  The rated voltage of alternator used in power statron is usually

A) 11kV B) 110 kV @) 220 kV D) 440 kV
iii) The cylindrical po‘ie «\eld is used for alternatoré

A) low speed / “B) medium speed C) hight speed D) none of these
iv)  The number of cyc}es generated in a 6 pole alternator in orie-revolution is
A) 1 :‘j« \ B) 2 C) 3 D) 4
¢ (06 Marks)
(04 Marks)

A 6 pole, 3-0, st
slot. It rotate “at a speed of 1000 rpm, the flux per phase being 50 mw

value of EMFJgenerated if the K, =0.966 and K. =0.97

ar connected alternator has a armature with 72 slots ar dE 15 conductors /
“calculate the line

(06 Marks)

Choose tha. correct answers for the following :

“CAn 3-¢ induction motor works with only. W
.A)DC B) AC C) Both AC and DC D) None of thése..
The frame of induction motor is made of D)\

(04 Marks)

. A) Silicon steel B) Aluminium C) Bronze
“iif) The magnitude of rotating magnetic field is
A) % times | B) V3 times T times D) %times
iv) In squirrel cage rotor, the slots are skewed because
A) To reduce losses B) To give support
C) To reduce magnetic hum D) To reduce friction
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‘ (06'3 Marks)
(05 Marks)

(05 Marks)
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